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Answer any S questions from 1 to 6. Each carries 1 score. Bx1=5)
1. A spike waveform can be generated from a square waveform in circuit.

(Integrator, Differentiator, Clipper, Clamper)

2. In more than 20,000 transistors are included on a single chip.
(SSI, MSI, LSI, VLSI)

3.  CMRR stands for .

4. How many OR Gates are present in the output of a 4:1 multiplexer ?
4,2,8,1)

5. In satellite communication transmission of signals from first earth station to satellite
through a channel is called

(down link, up link, duplexer, antenna)

6.  The basic principle behind the fibre optic communication is

(Critical angle, Electromagnetic induction, Total internal reflection, Refraction)

Answer any 11 questions from 7 to 18. Each carries 2 scores. (11 x2=22)
7. Define clipper & clamper.

8. (a) Draw the frequency response of RC low pass filter. (1)
(b) Write the expression for cut-off frequency. (1)

9.  Compare +ve feedback and —ve feedback.

10. (a) Name an Op-amp IC. 1)
(b) Draw its Pin diagram. (1)

11. Draw the block diagram of linear power supply.

12.  Draw the block diagram of an SMPS and explain its working.

13.  Compare On-line UPS and Off-line UPS.
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afloo. Bx1=5)

l. &) square waveform-@3 mlany 80} spike waveform generate e21Q)an circuit @REM
(Integrator, Differentiator, Clipper, Clamper)

2. 20,000 @oil@3 &»)S)@@3 transistors 630} chip — @3 9UBeOGHIss)M IC @Y6.
(SSI, MSI, LSI, VLSI)

3. CMRR 63 a1)3gma)alo @6

4. ®0)4:1 multiplexer — a3 out put — @3 ag)@ OR Gates ene’?
(49 2’ 8’ 1)

5. &a@)satellite communication @l@3 8anone@™ earth station-@3 mlanye satellite ceIQ @6
signal-m transmit ©a1@Q)an channel GRAIVOA|S)AMG ag)amo6m.
(down link, up link, duplexer, antenna)

6. &) fibre optic communication — 63 allanlenss @eslruoom Gemio @RY6).
(Critical angle, Electromagnetic induction, Total internal reflection, Refraction)
7 m®a3 18 0190W)8s ago@®sleno 11 ¢ald3iBudaN QOM0o af)9)®)d. 2 GIDIA
afloo. (11 x 2=22)

7. Clipper 9o clamper 9o ag)a»066mam M1BQ|a l06)d.

8. (a) RClow pass filter - a3 frequency response QIO
(b) en@lead cut-off frequency @es expression af)9)®)d.

9.  +ve feedback 9o —ve feedback 9o ®rilG3 ®OO®R )0 S)OTD)H>.

10. (a) &0)Op-amp IC @)OS Gal® af)9)®)d>.
(b) @l Pin diagram Q100 o).

11. &) linear power supply @jes block diagram Q10@e9)H>.

12.  &0) SMPS-9a8 block diagram ai0a] @@ (@ 1018GmMo allvodle:@lae)b.

13.  On-line UPS 9o Off-line UPS 9o ®o0@2 o 61210))6.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

(a) A 4:1 multiplexer has no. of select lines.

(b) Draw the block diagram of 4:1 multiplexer.
Define Decoder and write any one use.

Compare TTL & CMOS in logic families.

Draw the block diagram of PA system.

(a) Define word length in a microprocessor.

(b) Give one example for 8-bit microprocessor.

Answer any 7 questions from 19 to 27. Each carries 3 scores.

R
NV

AV=T 4V

(a) Name the given circuit.
(b) Draw its o/p waveform.

(c) Explain its working.

1

If oscillator frequency is f= ———
ey 21/6RC

(a) Identify the oscillator.

(b) Draw its circuit diagram.

What are the different steps in IC fabrication techniques ?

Draw the circuit diagram of an Op-amp with voltage gain 1 + R
1

(a) What is the working principle of moving coil microphone ?

(b) Draw the constructional details of moving coil microphone.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

(a) ®0)4:1 multiplexer - @3 ag)(@® ag)amo select lines ome. 4))
(b) 4:1 multiplexer — & block diagram 01009 1)

Decoder m13qjal96)d. D@03 B0} DalEROIWO af)9)®)D>.
Logic families @loel TTL 9o CMOS 9o @00®a o 6)21Q) .
Public Address System &3 block diagram 010@ @)

(a) &30 microprocessor &3 word length 113q)a o9} (1)
(b) &) 8-bit microprocessor M OBIAOMEMo af) 9. (1)

19 2)®@8 27 Q19088 ¢21933SEG3 a@o®B1LNo 7 af)aNOTIM DODODALI®)d>.

3 capod aflos. (7x3=21)
R
AAAN
Dy N D>
o T 7T 3w
AV T4V
(@) @amldles)am circuit HAF Gald ag)F)@). 1)
(b) @l o/p waveform QlOVGO). 4))
(©) oo @1aldemMo alluodldalHe)d. (1)
1
Oscillator frequency f= ———— @eemesl@3
PRy o ndere ™

(a) g oscillator @REIMIN @@l2GlW)H. 4))
(b) e@lea] circuit diagram Q10QH6 . 2)

IC fabrication techniques eI aflaflw *LISERUB ROGIOEHWE.

Voltage gain 1 + =~ &l5mm@lm’ @alvoimo@ 3oy Op-amp — 6 circuit diagram

R,
QUOWEN) .
(a) ®0)moving coil microphone - Q3 (*1AUBTDM OODo af)TNIE). 1)
(b) &y moving coil microphone - a3 constructional details Q10099 2)
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24. Explain satellite communication with neat block diagram.

25. Compare step index and graded index fiber.

26. Draw the block diagram of BP apparatus.

27. (a) In shift register flip-flop are used. 1)
(b) Draw the logic diagram of 4 bit SISO shift register. 2)
Answer any 3 questions from 28 to 32. Each carries 4 scores. B x4=12)

28. (a) Draw the circuit diagram to obtain the given o/p waveform. 2)
(b) Identify the circuit diagram. 1)
(c) Explain the working. 1)

1] e ——

0 \/

A V) RN

2 Vi [-prspmssmesen

Vm , ,
0

29. (a) An Astable multivibrator has stable state. 0}
(b) Draw the circuit diagram of an astable multivibrator using IC 555. A3
30. (a) The modulus ofa decade counter is . (1)
(b) Draw the block diagram of a decade counter. 2)
(c) Write its truth table. 1)

31. Draw the block diagram of monochrome TV Receiver.

32. (a) Write any one operating system used in mobile phones. (1)
(b) Draw the block diagram of RADAR. 2)
(c) What is the function of duplexer in RADAR ? (1)
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24.

25.

26.

27.

28.

29.

30.

31.

32.

Satellite communication ©ag neat block diagram a10af explain 612 10Q)).
Step index ©o graded index fiber Do @@ OO Yo 6).210))>.
630) BP apparatus ©a3 Block diagram 010@ o).

(a) &) shift register flip-flop @REM DalcOUWlENMMD. 4))
(b) 4 bit SISO shift register &g logic diagram Q106 2)

28 2)®@8 32 A190W)BS Ga10683BSEIE3 ago®slel)e 3 af)INOTIM QOMOOAYL®)d>.

4 capod aflos. Bx4=12)
(a) ey @midlesmm o/p waveform el€leman@ilmoalvoyno® circuit diagram
QUOWEN) . ?2)
(b) circuit diagram 6™ @@l |0lW)B. (1)
() @l @1aIdomMo allvddle:dlue). (1)
1] e ——
0 \/
_Vm ____________
2 Vmf-y~c--------
Vm , ,
0

(a) &) Astable multivibrator @ stable state ene. 1)
(b) &) Astable multivibrator — 63 circuit diagram IC 555 9alc@oufla] alo@de)d.  (3)

(a) &) decade counter &3 modulus @Y. 1
(b) &) decade counter ©ag block diagram Q1089 2)
(c) en@lea) truth table 01009 4))
630) monochrome TV Receiver &3 block diagram a100@9).

(a) Mobile phone — @3 DalcIUTIHNIM BO@ESILN B0} Operating system — 603

Cal® af)9)®). 4))
(b) RADAR - 68 block diagram a10@@6). ?2)
(c) RADAR - eelduplexer a3 (2 10I3@Mo af)a®) ? 4))
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